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1: nthroot (x,vy) 3: lem(x,vV)
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2: abs (x) 4: vpa (x,d) cotd (x)
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Jbo) f=(sin(x)+tan(x))/(24+3*sin(x))
sin(x) + tan(x)
~ 2+ 3x*sin(x)

(1) g=2*sin(2* (cos (x"2)"2) “3+exp (sqgrt (x)))
(2) h=log (x*x+x/x-x)+x"1243~4
(3) k=x"(1/2)"(1/3)+x"(1/2)*(1/3)+x"1/2"~1/3
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Juo) lim,_,(x +sin(x)) =P  limit('x+sin(x)',x,2)

1 2.
% d’y . dy .
Z(sin(k) + k) 772 + 3 I + 2y = sin(t) + 3
2 y(0) =1
y(0) =2
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1: 2:
clc clc
a=3; A=zeros (5);
for k=5:17 for i=1:5
if(k==9 | k<5) for j=1:5
b=k+2; A(i,j)=1i*3-2*73;
disp (b) end
elseif (k<=6 & k>4) end
c=k*2; A
disp(c)
elseif (k>19 | k<=12)
d=k-a;
disp (d)
elseif (k>14)
a=a-1*k;
disp (a)
disp('Hi Matlab')
end
end
disp('end")
3: 4:
min=2;
max=22; clear all
c=0; clc
for a=min:max n=7;
b=0; A=1;
for i=1:a B=4;
m=mod (a, i) ; C=0;
if (m==0) i=1;
b=b+1; while (i<=n)
end disp (A7)
end A=2*B+C;
if (b==2) C=B*2-3-1i;
c=atb+i; B=A-1;
disp (c) i=i+1;
end end
end
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